

Maharashtra University of Health Sciences, Nashik

Inspection Committee Report for Academic Year 2024 - 2025

Details of Library

Faculty- Nursing

Name of College/Institute – VSPM College of Nursing, Katol

1	Total Books (Other than Book Bank scheme)	1500
2	Last year purchase	500
3	Invoice & payment details	Books invoice – 411, Rs. – 80935 Rs.- 343602 Rs. - 495740
4	List of Journal subscribed year	18



Dean/ Principal Stamp & Signature

Principal

VSPM College of Nursing

Lata Mangeshkar Hospital Campus

Katol

S R PUBLISHERS AND DISTRIBUTORS

AMIKET APARTMENT, Plot No. 5, Chandan Nagar, Krida Square, Nagpur (MS)

Mob. No. 9890119037, 9890055870 Email Id:- sriprin@gmail.com

INVOICE

TO

VSPM'S COLLEGE OF NURSING,
KHUTUMBA ROAD, KATOL,
DIST- NAGPUR

Invoice No.:- 411

Date:- 01/06/2023

No. of parcels:- 6

Ref. No.:-

Despatch by:- BY HAND

S.N	AUTHOR	TITLE	CUR	PRICE	QTY	NET AMT
1.	TORTORA G.	PRINCIPLES OF ANATOMY AND PHYSIOLOGY	Rs	1703.4	9	15331
2.	WAUGH A	ANATOMY OF PHYSIOLOGY IN HEALTH AND ILLNESS	Rs	871	4	3484
3.	PEARCE E.C	ANATOMY AND PHYSIOLOGY FOR NURSES	Rs	100	8	800
4.	CHAURASIA B.D	HAND BOOK OF GENERAL ANATOMY	Rs	75	1	75
5.	AN EXPERIENCED	NOTES FOR ANATOMY	Rs	140	1	140
6.	KHAN B.K	CONCISE TEXT BOOK OF ANATOMY BASIC AND APPLIED	Rs	295	1	295
7.	MEKKATT B	AN INTRODUCTION TO ANATOMY AND PHYSIOLOGY FOR NURSES	Rs	190	1	190
8.	CHAURASIA B.D	HUMAN ANATOMY REGIONAL AND APPLIED DISSECTION AND CLINIC	Rs	285	1	285
9.	CHAURASIA B.D	HUMAN ANATOMY REGIONAL AND APPLIED DISSECTION AND CLINIC	Rs	335	1	335
10.	SINGH	ANATOMY AND PHYSIOLOGY FOR NURSES	Rs	425	1	425
11.	CHAURASIA B.D	HUMAN ANATOMY VOL. 1	Rs	285	2	570
12.	CHAURASIA B.D	HUMAN ANATOMY VOL. 3	Rs	335	1	335
13.	WATSON R	ANATOMY AND PHYSIOLOGY FOR NURSES	Rs	395	1	395
14.	EXPERIENCED	MCQS IN ANATOMY	Rs	80	2	160
15.	SINGH I	MULTIPLE CHOICE QUESTIONS IN ANATOMY	Rs	110	1	110
16.	JAIN A.K	ANATOMY AND PHYSIOLOGY FOR NURSES	Rs	220	1	220
17.	EXPERIENCED	NOTES FOR ANATOMY	Rs	150	2	300
18.	WAUGH A	ROSS AND WILSON ANATOMY AND PHYSIOLOGY IN HEALTH AND	Rs	970.5	1	971
19.	RAO B.S	MCQ FOR BSC NURSING IN ANATOMY AND PHYSIOLOGY	Rs	100	2	200
20.	JAIN A.K	ANATOMY AND PHYSIOLOGY FOR NURSES	Rs	220	1	220
21.	RAO B.S	MCQ FOR BSC NURSING IN ANATOMY AND PHYSIOLOGY	Rs	125	1	125
22.	KHURANA I ;	TEXT BOOK OF ANATOMY AND PHYSIOLOGY FOR NURSES AND ALLIED	Rs	550	1	550
23.	CHAURASIA B.D	HUMAN ANATOMY REGIONAL AND APPLIED DISSECTION AND CLINIC	Rs	350	1	350
24.	CHAURASIA B.D	HUMAN ANATOMY REGIONAL AND APPLIED DISSECTION AND CLINIC	Rs	395	1	395
25.	ANNE M.R	GRANTS ATLAS OF ANATOMY	Rs	425	1	425
26.	JAYANTHI V	TEXT BOOK FOR ANATOMY FOR NURSING AND ALLIED HEALTH SCI	Rs	325	1	325
27.	SINGH I	TEXT BOOK OF ANATOMY VOL.I,II & III	Rs	450	3	1350
28.	SINGH I	TEXT BOOK OF ANATOMY VOL.I	Rs	450	2	900
29.	SINGH I	TEXT BOOK OF ANATOMY VOL.II	Rs	450	2	900
30.	SINGH I	TEXT BOOK OF ANATOMY VOL.III	Rs	450	2	900
31.	GARG K ; MITTAL B. D.	CHAURASIA'S HUMAN ANATOMY REGIONAL AND APPLIED DISS	Rs	1890	4	7560
32.	GARG	CLINICAL UPPER LIMB THORAX VOL.1, 2, 3 & 4	Rs	1500	1	1500
33.	KHURANA I	TEXT BOOK OF ANATOMY AND PHYSIOLOGY FOR B. SC. NURSING	Rs	895	1	895
34.	MADHYASTHA S	MANIPAL MANUAL OF ANATOMY FOR ALLIED HEALTH SCIENC	Rs	675	1	675
35.	AN EXPERIENCED	NOTES FOR PHYSIOLOGY	Rs	140	1	140

 Page 1 of 4

S R Publishers & Distributors
Plot No. 5 AMIKET APARTMENT
Chandan Nagar Krida Sq. Nagpur.

S R PUBLISHERS AND DISTRIBUTORS

AMIKET APARTMENT, Plot No. 5, Chandan Nagar, Krida Square, Nagpur (MS)
Mob. No. 9890119037, 0668055870 Email Id:- srpdngp@gmail.com

INVOICE

TO

VSPM'S COLLEGE OF NURSING,
KHUTUMBA ROAD, KATOI,
DIST- NAGPUR

Invoice No.:- 411

Date:- 01/06/2023

No. of parcels:- 6

Ref. No.:-

Despatch by:- BY HAND

S.N	AUTHOR	TITLE	CUR	PRICE	QTY	NET AMT
36.	CHAUDHURI S.K	CONCISE MEDICAL PHYSIOLOGY	Rs	640	2	1280
37.	GANONG W.E	REVIEW OF MEDICAL PHYSIOLOGY	Rs	564	1	564
38.	GUYTON	MEDICAL PHYSIOLOGY	Rs	564	1	564
39.	JOSHI V	MCQS IN PHYSIOLOGY	Rs	195	2	390
40.	MAHAPATRA A.	ESSENTIALS OF MEDICAL PHYSIOLOGY	Rs	495	2	990
41.	SINGH S.H	PRINCIPLES OF HUMAN PHYSIOLOGY FOR COURSES IN NURSIN	Rs	575	1	575
42.	HILGARD E.R	INTRODUCTION TO PSYCHOLOGY	Rs	280	9	2520
43.	BHATIA B.D ; CR	ELEMENTS OF PSYCHOLOGY AND MENTAL HYGIENE FOR NURS	Rs	125	10	1250
44.	MORGAN C.T	INTRODUCTION TO PSYCHOLOGY	Rs	350	2	700
45.	ZWEMER A.J	BASIC PSYCHOLOGY FOR NURSES IN INDIA	Rs	125	1	125
46.	ANTHIKAD J	PSYCHOLOGY FOR GRADUATE NURSES	Rs	135	1	135
47.	SHRIVASTAVA D	GENERAL PSYCOLOGY	Rs	100	1	100
48.	PATHARE S ; SUI	ELEMENTS OF PSYCHOLOGY STD.XI	Rs	45	1	45
49.	BASANTANI K.T	PSYCHOLOGY STD. XI	Rs	70	1	70
50.	BHATIA B.D ; CR	ELEMENTS OF PSYCHOLOGY AND MENTAL HYGIENE	Rs	150	1	150
51.	MORGAN C.T ; F	INTRODUCTION TO PSYCHOLOGY	Rs	375	3	1125
52.	ABHYANKARS	A TEXT BOOK OF PSYCHOLOGY STD XII	Rs	97	1	97
53.	ANTHIKAD J	PSYCHOLOGY FOR GRADUATE NURSES	Rs	150	1	150
54.	BHATIA B.D	ELEMENTS OF PSYCHOLOGY AND MENTAL HYGIENE FOR NURS	Rs	150	1	150
55.	RAO N	MCQ IN PSYCHOLOGY AND POLICIES AND ALLIED SCIENCES	Rs	160	1	160
56.	GOWDA K	PSYCHOLOGY FOR NURSES	Rs	150	1	150
57.	PARADICE R	PSYCHOLOGY FOR MIDWIVES	Rs	195	1	195
58.	KAUR A	A TEXT BOOK OF PSYCHOLOGY	Rs	215	2	430
59.	BALACHANDRA	BHATIA AND CRAIGS ELEMENTS OF PSYCHOLOGY AND MENTA	Rs	175	1	175
60.		NURSES IN INDIA	Rs	250	1	250
61.	BALLAL V.R	BASICS OF PSYCHOLOGY	Rs	350	1	350
62.	GORMAN L.M ; PSYCHOSOCIAL	NURSING FOR GENERAL PATIENT CARE	Rs	450	1	450
63.	MORGAN C.T ; F	INTRODUCTION TO PSYCHOLOGY	Rs	650	1	650
64.	GOWDA K	ESSENTIALS OF PSYCHOLOGY FOR B. SC. NURSING STUDENTS	Rs	295	1	295
65.	MANELKAR R.K	SOCIOLOGY FOR NURSES	Rs	60	2	120
66.	RAO B.N.S	SOCIOLOGY FOR NURSES	Rs	55	1	55
67.	RAMASAMY P	GENERAL AND MEDICAL SOCIOLOGY	Rs	150	1	150
68.	RESALAKSHY M	TEXT BOOK OF SOCIOLOGY FOR NURSES	Rs	100	1	100

8R Page 2 of 4

S R Publishers & Distributors
Plot No. 5 AMIKET APARTMENT
Chandan Nagar Krida Sq. Nagpur-44

S R PUBLISHERS AND DISTRIBUTORS



AMIKET APARTMENT, Plot No. 5, Chandan Nagar, Krida Square, Nagpur (MS)

Mob. No. 9890119037, 8668055870 Email Id: srpdngp@gmail.com

INVOICE

TO
VSPM'S COLLEGE OF NURSING,
KHUTUMBA ROAD, KATOL,
DIST- NAGPUR

Invoice No.: 411

Date:- 01/06/2023

No. of parcels:- 6

Ref. No.:-

Despatch by:- BY HAND

S.N	AUTHOR	TITLE	CUR	PRICE	QTY	NET AMT
69.	BHUSHAN V ; SACI	AN INTRODUCTION TO SOCIOLOGY	Rs	230	2	460
70.	CHATTERJI A	SOCIOLOGY FOR COMPETITIONS	Rs	120	1	120
71.	PATEL M.B ; UPAD	WARD PROCEDURES	Rs	225	3	675
72.	PRAKASH R	MANIPAL MANUAL OF NURSING PROCEDURES : FUNDAMENTALS C	Rs	220	3	660
73.	SIRRA E	NURSING PROCESS	Rs	195	9	1755
74.	BASVANTHAPPA B	NURSING THEORIES	Rs	250	1	250
75.	RAJNIKANT A.M	APPLICATION OF NURSING DIAGNOSIS AND NURSING PROCESS	Rs	175	2	350
76.	CLEMENT	BASIC CONCEPT OF NURSING PROCEDURE	Rs	425	1	425
77.	KAUR L ; KAUR M	A TEXT BOOK OF NURSING FOUNDATION	Rs	425	1	425
78.	SHARMA M	NURSING FOUNDATIONS AN ULTIMATE EXAM PREPARATION KIT	Rs	450	1	450
79.	ROSE S	CAREER ENGLISH FOR NURSES	Rs	165	1	165
80.	NAIDU V	A TEXT BOOK OF ENGLISH FOR NURSES	Rs	125	1	125
81.	ROSE S	CAREER ENGLISH FOR NURSES	Rs	180	1	180
82.	SHARMA L	ENGLISH 4 NURSES	Rs	350	1	350
83.	JOSHI V.D	HAND BOOK OF NUTRITION AND DIETETICS	Rs	140	4	560
84.	SWAMINATHAN N	ADVANCED TEXT BOOK OF FOOD AND NUTRITION VOL 1	Rs	240	1	240
85.	JOSHI Y.K	BASICS OF CLINICAL NUTRITION	Rs	200	1	200
86.	JOSHI S.A	NUTRITION AND DISTETICS	Rs	195	2	390
87.	ANTIA F.P ; ABRAF	CLINICAL DIETETICS AND NUTRITION	Rs	375	1	375
88.	JOSHI V.D	HANDBOOK OF NUTRITION AND DIETETICS	Rs	140	1	140
89.	SWAMINATHAN N	HAND BOOK OF FOOD AND NUTRITION	Rs	220	4	880
90.	ANTIA F.P ; ABRAF	CLINICAL DIETETICS AND NUTRITION	Rs	385	3	1155
91.	SWAMINATHAN N	TEXT BOOK OF FOOD AND NUTRITION PART 2	Rs	270	2	540
92.	SWAMINATHAN N	ADVANCED TEXT BOOK OF FOOD AND NUTRITION PART 1	Rs	340	1	340
93.	SALINS O	ESSENCE OF NUTRITION	Rs	135	2	270
94.	BHAT N	TEXT BOOK OF NUTRITION FOR NURSES	Rs	80	1	80
95.	ANTHIKAD J	NUTRITION AND BIOCHEMISTRY FOR NURSES	Rs	250	4	1000
96.	SAM M ; GEETHA I	A TEXT BOOK OF NUTRITION FOR NURSES	Rs	125	1	125
97.	INDRANI T.K	NURSING MANUAL OF NUTRITION AND THERAPEUTIC DIET	Rs	175	1	175
98.	MACHENDAR Q.M	TEXT BOOK ON FOOD AND NUTRITION FOR NURSES	Rs	595	1	595
99.	BHAT B.V	PROTEIN ENERGY MALNUTRITION	Rs	650	1	650
100.	SHARMA R	DIET MANAGEMENT	Rs	460	1	460
101.	HARBANSLAL	FOOD AND NUTRITION	Rs	395	1	395
102.	INDRANI T.K	NURSING MANUAL OF NUTRITION AND THERAPEUTIC DIET	Rs	250	1	250

82

Page 3 of 4

S R Publishers & Distributors
Plot No. 5 AMIKET APARTMENT
Chandan Nagar Krida Sq. Nagpur-44



S R PUBLISHERS AND DISTRIBUTORS

AMIKET APARTMENT, Plot No. 5, Chandan Nagar, Krilda Square, Nagpur (MS)

Mobile No: 9890119032, 8668055820 Email Id: sendppn@gmail.com

INVOICE

**VSPM'S COLLEGE OF NURSING,
KHUTUMBA ROAD, KATOL,
DIST- NAGPUR**

Invoice No.:- 411

Date:- 01/06/2023

No. of parcels:- 6

Ref. No.:-

Despatch by:- BY HAND

S.N	AUTHOR	TITLE	CUR	PRICE	QTY	NET AMT
103.	SINGI Y	BIOCHEMISTRY SOLVED QUESTION PAPER MAY1999 TO OCTOBER 1999	Rs	160	1	160
104.	CHETAN P.S	TEXT BOOK OF BIOCHEMISTRY FOR NURSING STUDENTS	Rs	140	1	140
105.	REDDY K.R	MEDICAL BIOCHEMISTRY FOR NURSES	Rs	125	5	625
106.	SATYANARAYANA U	ESSENTIALS OF BIOCHEMISTRY	Rs	255	1	255
107.	DEB A.C	FUNDAMENTALS OF BIOCHEMISTRY	Rs	465	2	930
108.	GUPTA R.C	MCQ IN BIOCHEMISTRY	Rs	160	3	480
109.	DANDEKAR S.P	MEDICAL BIOCHEMISTRY PREP MANUAL FOR UNDERGRADUATES	Rs	325	1	325
110.		EXPERIENCED PROFESSOR NOTES FOR BIOCHEMISTRY	Rs	190	2	380
111.	NAIK P	BIOCHEMISTRY	Rs	695	1	695
112.	RANDHAWA S.S	A TEXT BOOK OF BIOCHEMISTRY	Rs	495	2	990
113.	SSUKHDEV S ; BHAWI	NEW COURSE IN BIOCHEMISTRY	Rs	245	1	245
114.	VENKATRAM S	NUTRITION AND BIOCHEMISTRY FOR NURSES	Rs	595	2	1190
115.	LAL H	BIOCHEMISTRY FOR BSC NURSING STUDENTS	Rs	450	1	450
116.	RANDHAWA S.S	BIOCHEMISTRY AN ULTIMATE EXAM KIT	Rs	395	1	395
117.	VENKATRAMAN S	NUTRITION AND BIOCHEMISTRY	Rs	495	1	495
118.	SHARMA S.K	TEXT BOOK OF BIOCHEMISTRY AND BIOPHYSICS FOR NURSES	Rs	395	3	1185
119.	SAMANT K	BASIC COMPUTERS TRAINING FOR NURSES	Rs	70	1	70
120.	JAIN P ; KUMARI N	INTRODUCTION TO COMPUTERS FOR NURSING	Rs	375	1	375
TOTAL			RS	223	80935	
			FREIGHT			0
			GRAND TOTAL			80935

Count In Words- Eighty Thousand Nine Hundred & Thirty Five Only

Terms & Condition

- We Certify that the Price (s) mentioned in the invoice are as per the Current Publisher Catalogue/ Invoice.
- Books Once Sold cannot be taken back or exchanged in any case.
- Outstation Payment Should be made by Bank Draft payable at Nagpur.
- Subject to Jurisdiction. Please issue all CHAQUES/DD in favour Of 

"SR PUBLISHERS & DISTRIBUTORS"

Prepared By ✓ Checked By: ✓

S K Publishers & Distributors
Plot No. 5 AMIKET APARTMENT
Chandan Nagar Krida Sg. Noida-201301

VSPM ACADEMY OF HIGHER EDUCATION

5, Y.M.C.A, Complex, Sitabuldi, NAGPUR, MH-440 001

Phone: 07104-665000 Email: purchase@vspmahe.in, purchase@nkpsims.edu.in

GSTIN No.

PURCHASE ORDER

Supplier Name	S R PUBLISHERS & DISTRIBUTORS	PO No.	23-24/7
Supplier Address	Plot No 544 , New Mhalgi Nagar, Behind Besa House Ring Road , Nagpur	PO Date	24/01/2024
Supplier Phone	9890119037 9890119037	Sup A/C NO	
Supplier eMail ID	srpdngp@gmail.com	GSTIN No.	27xxxxxxxxxxxx
Hosp. DL No.	CD(0413)15,R,W.	Manual indent no	K460
Location/Main Store	VSPM'S COLLEGE OF NURSING,KATOL	Dept/Sub-store	VSPM'S COLLEGE OF NURSING,KATOL

Sno	Item Name	Item Code	HSN Code	Item Unit	Qty	Fr.Qty	Rate	MRP	Disc. %	Amount	CGST %	CGST Amt	SGST %	SGST Amt	IGST %	IGST Amt	Total Amount
1	BOOK EXIBITION (Purchasing of 128 set educational books for nursing college of Katol as per the list enclosed for the year 2024 .)	006441		NOS	1.00	0.00	343601.64	0.00	0.00	343601.64	0.00	0.00	0.00	0.00	0.00	343601.64	
															Total Amount	343601.64	
															Total Discount	0.00	
															Round Off Amt	0.36	
															Net Amount	343602	

Delivery Instruction(s)

. Supplier should quote PO Number Reference on their Bills

F.O.R.-NKPSIMS & Lata Mangeshkar Hospital Diddoh Hill Nagpur, Other Carting Loading & Unloading Including

Note:- The management reserves the rights to re-verify your Invoices / Bills at any point of time, even after making the full & final payment. In case of any discrepancies noticed thereon, you will fully indemnify the institutions.

* 30 days allowed for delivery of goods after receipt of Purchase Order. Penalty of 0.5% per week will be applicable on an undelivered goods, if material is non correlated then penalty of 0.5% per week will be applicable on total order value.

Note:- All material gate entry compulsory is to be made do through the NKPSIMS and LMH Main gate. otherwise, your bill is not submitted to Account Dept.

Note:- Any changes in the Purchase Orders / Work Orders terms if required by the vendor should be intimate within 2 days of received of the Purchase Orders / Work Orders. If no reply is received, then it will be considered as that all terms are accepted by the vendor as it is.

There will be no changes thereafter in any Terms & conditions of the Purchase Order / Work Order.

Note :- Material Delivery Time :- 10.00 AM to 4.00 PM (Monday To Friday) & *10.00 AM to 1.00 PM (Only for Saturday)*.

Invoice Name :- VSPM'S COLLEGE OF NURSING, KATOL

Payment Term(s)

*Payment Terms:-30 Days from the Receipt of Bill.

PO Remarks:-

Created By:

kunal rameshwar seware

Purchase Head

Finance Head

Dean

CEO(A&F)

Director Audit

Treasurer Vice Chairman

Chairman

Nursing Director

VSPM Madhuribai Deshmukh

Institute of Nursing Education

Diddoh Hills, Nagpur 44001

Printed Date & Time : 24/01/2024 15:49 PM

VSPM ACADEMY OF HIGHER EDUCATION

5, Y.M.C.A, Complex, Sitabuldi, NAGPUR, MH-440 001

Phone: 07104-665000 Email: purchase@vspmahe.in, purchase@nkpsims.edu.in

GSTIN No.

PURCHASE ORDER

Supplier Name	S R PUBLISHERS & DISTRIBUTORS		PO No.	23-24/9
Supplier Address	Plot No 544, New Mhalgi Nagar, Behind Besa House Ring Road, Nagpur		PO Date	24/01/2024
Supplier Phone	9890119037 9890119037		Sup A/C NO	
Supplier eMail ID	srpdngp@gmail.com		GSTIN No.	27xxxxxxxxxxxxxx
Hosp. DL No.	CD(0413)15,R,W.		Manual indent no	K460
Location/Main Store	VSPM'S COLLEGE OF NURSING,KATOL		Dept/Sub-store	VSPM'S COLLEGE OF NURSING,KATOL

Sno	Item Name	Item Code	HSN Code	Item Unit	Qty	Fr.Qty	Rate	MRP	Disc. %	Amount	CGST %	CGST Amt	SGST %	SGST Amt	IGST %	IGST Amt	Total Amount
1	BOOK EXIBITION (Purchasing of 30 set educational books for nursing college of Katol as per the list enclosed for the year 2024.)	006441		NOS	1.00	0.00	495740.00	0.00	0.00	495740.00	0.00	0.00	0.00	0.00	0.00	495740.00	
Total Amount																	495740.00
Total Discount																	0.00
Round Off Amt																	0.00
Net Amount																	495740

Delivery Instruction(s)

Supplier should quote PO Number Reference on their Bills

F.O.R.-NKPSIMS & Lata Mangeshkar Hospital Digdoh Hill Nagpur, Other Carting Loading & Unloading Including

Note:- The management reserves the rights to re-verify your Invoices / Bills at any point of time, even after making the full & final payment. In case of any discrepancies noticed thereon, you will fully indemnify the institutions.

* 30 days allowed for delivery of goods after receipt of Purchase Order. Penalty of 0.5% per week will be applicable on an undelivered goods, if material is non correlated then penalty of 0.5% per week will be applicable on total order value.

Note:- All material gate entry compulsory is to be made do through the NKPSIMS and LMH Main gate. otherwise, your bill is not submitted to Account Dept.

Note:- Any changes in the Purchase Orders / Work Orders terms if required by the vendor should be intimate within 2 days of received of the Purchase Orders / Work Orders. If no reply is received, then it will be considered as that all terms are accepted by the vendor as it is. There will be no changes thereafter in any Terms & conditions of the Purchase Order / Work Order.

Note :- Material Delivery Time :- 10.00 AM to 4.00 PM (Monday To Friday) & *10.00 AM to 1.00 PM (Only for Saturday)*.

Invoice Name :- VSPM'S COLLEGE OF NURSING, KATOL

Payment Term(s)

*Payment Terms:-30 Days from the Receipt of Bill.

PO Remarks:-

Created By :

kunal rameshwar sewani

Purchase Head

Finance Head

Dean

CEO(A&F)

Director Audit

Treasurer Vice Chairman

Chairman

Nursing Director

VSPM Madhuribai Deshmukh

Institute of Nursing Education,
Digdoh Hills, Nagpur 440019

Printed Date & Time : 29/01/2024 10:45:29

VSPM ACADEMY OF HIGHER EDUCATION

5, Y.M.C.A, Complex, Sitabuldi, NAGPUR, MH-440 001
 Phone: 07104-665000 Email: purchase@vspmahe.in, purchase@nkpsims.edu.in

GSTIN No.

PURCHASE ORDER

Supplier Name	ARVIND PRAKASHAN	PO No.	23-24/8
Supplier Address	15-16 Durga Nursery Road, Ashok Nagar Main Road, Opp. Tribal Resarch Institute, Udaipur	PO Date	24/01/2024
Supplier Phone	7980558862 9610381459	Sup A/C NO	
Supplier eMail ID	journals@arvindprakashan.co.in	GSTIN No.	
Hosp. DL No.	CD(0413)15.R.W.	Manual indent no	K459
Location/Main Store	VSPM'S COLLEGE OF NURSING,KATOL	Dept/Sub-store	VSPM'S COLLEGE OF NURSING,KATOL

Sno	Item Name	Item Code	HSN Code	Item Unit	Qty	Fr.Qty	Rate	MRP	Disc. %	Amount	CGST %	CGST Amt	SGST %	SGST Amt	IGST %	IGST Amt	Total Amount
1	SUBSCRIPTION OF PRINT JOURNALS (Subscription of National & International Journals for the year of 2024 (As per list Enclose))	006176		NOS	1.00	0.00	118314.72	0.00	0.00	118314.72	0.00	0.00	0.00	0.00	0.00	118314.72	
															Total Amount	118314.72	
															Total Discount	0.00	
															Round Off Amt	0.28	
															Net Amount	118315	

Delivery Instruction(s)

Original Bill to be submitted along with DM and Material to the receiving officer and to keep acknowledged copy of the same to be kept for future reference.

Delivery Period :- Yearly Subscription .

Delivery Address:- NKP SALVE INSTITUTE OF MEDICAL SCIENCE & RESEARCH CENTRE AND LATA MANGESHKAR HOSPITAL,

Digdoh Hill, Hingna Road, Police Nagar, Nagpur - 440019

Note:- The management reserves the rights to re-verify your Invoices / Bills at any point of time, even after making the full & final payment. In case of any discrepancies noticed thereon, you will fully indemnify the institutions.

Note:- All material gate entry compulsory is to be made do through the NKPSIMS and LMH Main gate. otherwise, your bill is not submitted to Account Dept.

Note:- Any changes in the Purchase Orders / Work Orders terms if required by the vendor should be intimate within 2 days of received of the Purchase Orders / Work Orders. If no reply is received, then it will be considered as that all terms are accepted by the vendor as it is.

There will be no changes thereafter in any Terms & conditions of the Purchase Order / Work Order.

Invoice Name :- VSPM'S COLLEGE OF NURSING, KATOL

Payment Term(s)

Payment Terms :- On Monthly Basis after the receipt of Issues / Journals

PO Remarks:-

Created By :

kunal rameshwar seware

Purchase Head

Finance Head

Dean

CEO(A&F)

Director Audit

Treasurer Vice Chairman

Chairman

Nursing Director

'SPM Madhuribai Deshmukh'

Institute of Nursing Education

Digdoh Hill, Nagpur - 440019

Printed Date & Time : 24/01/2024 17:40 PM

Sr. No.	Name of the Books	Arvind Prakashan			
		Rate	Disc.	GOC Rate	Total Cost
1	Asian Journal of Nursing Education and Research	2000	20.06%	1.00	1,598.80
2	A and V Pub. International Journal of Nursing and Medical Research	3800	20.06%	1.00	3,037.72
3	A and V Pub. Journal of Nursing and Medical Research	2000	20.06%	1.00	1,598.80
4	Indian Journal of Gastroenterology	12900	20.06%	1.00	10,312.26
5	International Journal of Food, Nutrition & Dietetics	6500	20.06%	1.00	5,196.10
6	International Journal of Research in Psychiatry	4000	20.06%	1.00	3,197.60
7	Medico-Legal Update	12000	20.06%	1.00	9,592.80
8	American Journal of Advances in Nursing Research	2000	20.06%	1.00	1,598.80
9	Asian Pacific Journal of Nursing	2000	20.06%	1.00	1,598.80
10	International Journal of Emergency & Trauma Nursing	3500	20.06%	1.00	2,797.90
11	Trends in Nursing Administration & Education	4500	20.06%	1.00	3,597.30
12	Advances in Medical Sciences	634	20.06%	86.60	43,890.58
13	Asian Journal of Medicine & Health	6000	20.06%	1.00	4,796.40
14	Journal of Advanced Nursing Practice	2000	20.06%	1.00	1,598.80
15	European Journal of Nursing	2000	20.06%	1.00	1,598.80
16	The Journal of Community Health Management	6400	20.06%	1.00	5,116.16
17	Indian Journal of Pediatrics	18000	20.06%	1.00	14,389.20
18	Journal of Fundamentals in Nursing Research	3500	20.06%	1.00	2,797.90
Final Total Amount		118,314.72			

Prepared By

Principle

Purchase Officer

Purchase Head